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Fourth Year – Seventh Semester 

LABOUR LAW – II 

Time : 
2
12  hours                Maximum : 70 marks 

PART A — (2 × 12 = 24 marks) 

Answer TWO of the following in about 500 words each. 

500 

 

1. What is bonus? Explain the procedure for recovery of bonus due from an 

employer under the Payment of Bonus Act, 1965. How disputes over bonus are 

settled? 

1965

2. What are the restrictions under the Factories Act for employment of women 

and children? 

3. ―All Labour Legislations are social security Legislations‖. Discuss. 

― ‖

PART B — (2 × 7 = 14 marks) 

Answer TWO of the following in about 300 words each. 

300 

 

4. Explain partial disablement and total disablement, give an account of the 

determination of the amount of compensation under Employees‘ Compensation 

Act, 1923. 

5049–21 
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1923

5. State the benefits available under the Employees‘ State Insurance Act, 1948. 

1948

6. State the benefits available to a pregnant woman under the Maternity Benefit 

Act. 

PART C — (5 × 4 = 20 marks) 

7. Write short notes on FIVE of the following : 

 

 (a) Occupational disease. 

 (b) Salient features of the T.N. Shops and Establishment Act, 1947. 

1947

 (c) E.S.I. Corporation 

 (d) Benefits under the ESI Act, 1948. 

1948

 (e) Welfare officer and Safety officer 

 (f) Lawful deductions 

 (g) Salary ceiling for bonus 

PART D — (2 × 6 = 12 marks) 

Answer TWO of the following by referring to relevant provisions of law and  

decided cases. Give cogent reasons. 
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8. Kavitha is an employee of ‗Sunflower‘ Tea Plantation in Ooty. She was 

terminated from service for disablement due to an accident. She has completed 

four years of continuous service. Is she entitled to claim gratuity? 

9. ‗A‘ is employed in Tamil Nadu Transport Corporation as a Driver. After 

finishing duty he travelled in the free bus provided by the Transport 

Corporation. On the way there was heavy rain and the bus was hit by 

lightning on which ‗A‘ died. A‘s wife claims compensation. Decide. 

‗A‘ 

‗A‘ 

‗A‘ 

10. Lotus & Lotus is a mine establishment. In that mine more than 20 workers are 

working. In that mine, manufacturing process is carried on without the aid of 

power. The employer of the mine made an application to the concerned 

authority to register it as a factory. Decide the validity of the application under 

the Factories Act. 

& 20
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